CC Coordinate Algebra
              Unit 2 – Solving Equations & Inequalities
 Day 23

Name: 
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Graphing Systems of Inequalities
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3. It costs 50 cents to make a bracelet and $1 to make a necklace. To make a profit, the total cost for bracelets and necklaces must be less than $10. The jeweler can make no more than 14 pieces of jewelry each day.
a. Write a system of inequalities to model the number of bracelets and necklaces to be made each day.
b. Graph and shade the system to show the solutions.
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c. Explain the solution.
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